

**Addition Fractions - Like Denominators**

Calculate the value of each addition question in lowest terms

$$\frac{3}{7} + \frac{2}{7} = \frac{\square}{\square}$$

$$\frac{3}{8} + \frac{2}{8} = \frac{\square}{\square}$$

$$\frac{1}{4} + \frac{2}{4} = \frac{\square}{\square}$$

$$\frac{5}{7} + \frac{2}{7} = \frac{\square}{\square}$$

$$\frac{5}{7} + \frac{4}{7} = \frac{\square}{\square}$$

$$\frac{3}{5} + \frac{2}{5} = \frac{\square}{\square}$$

$$\frac{7}{8} + \frac{7}{8} = \frac{\square}{\square}$$

$$\frac{2}{3} + \frac{2}{3} = \frac{\square}{\square}$$

$$\frac{1}{8} + \frac{1}{8} = \frac{\square}{\square}$$

$$\frac{1}{2} + \frac{1}{2} = \frac{\square}{\square}$$

$$\frac{3}{8} + \frac{6}{8} = \frac{\square}{\square}$$

$$\frac{3}{5} + \frac{2}{5} = \frac{\square}{\square}$$

$$\frac{3}{6} + \frac{1}{6} = \frac{\square}{\square}$$

$$\frac{2}{3} + \frac{1}{3} = \frac{\square}{\square}$$

$$\frac{1}{3} + \frac{1}{3} = \frac{\square}{\square}$$

$$\frac{1}{3} + \frac{2}{3} = \frac{\square}{\square}$$

$$\frac{1}{4} + \frac{3}{4} = \frac{\square}{\square}$$

$$\frac{1}{4} + \frac{2}{4} = \frac{\square}{\square}$$

$$\frac{3}{7} + \frac{2}{7} = \frac{5}{7}$$

$$\frac{3}{8} + \frac{2}{8} = \frac{5}{8}$$

$$\frac{1}{4} + \frac{2}{4} = \frac{3}{4}$$

$$\frac{5}{7} + \frac{2}{7} = \frac{1}{1}$$

$$\frac{5}{7} + \frac{4}{7} = \frac{9}{7}$$

$$\frac{3}{5} + \frac{2}{5} = \frac{1}{1}$$

$$\frac{7}{8} + \frac{7}{8} = \frac{7}{4}$$

$$\frac{2}{3} + \frac{2}{3} = \frac{4}{3}$$

$$\frac{1}{8} + \frac{1}{8} = \frac{1}{4}$$

$$\frac{1}{2} + \frac{1}{2} = \frac{1}{1}$$

$$\frac{3}{8} + \frac{6}{8} = \frac{9}{8}$$

$$\frac{3}{5} + \frac{2}{5} = \frac{1}{1}$$

$$\frac{3}{6} + \frac{1}{6} = \frac{2}{3}$$

$$\frac{2}{3} + \frac{1}{3} = \frac{1}{1}$$

$$\frac{1}{3} + \frac{1}{3} = \frac{2}{3}$$

$$\frac{1}{3} + \frac{2}{3} = \frac{1}{1}$$

$$\frac{1}{4} + \frac{3}{4} = \frac{1}{1}$$

$$\frac{1}{4} + \frac{2}{4} = \frac{3}{4}$$